

Landau-Type Theorems for Solutions of a Quasilinear Differential Equation

Jingjing Mu* and Xingdi Chen

Department of Mathematics, Huaqiao University, Quanzhou, Fujian 362021,
P.R. China.

Received 19 May 2014; Accepted 12 September 2014

Abstract. In this paper, we study solutions of the quasilinear differential equation $\bar{z}\partial_{\bar{z}}f(z) + z\partial_zf(z) + (1 - |z|^2)\partial_z\partial_{\bar{z}}f(z) = f(z)$. We utilize harmonic mappings to obtain an explicit representation of solutions of this equation. By this result, we give two versions of Landau-type theorem under proper normalization conditions.

AMS subject classifications: 30C99, 30C62

Chinese Library Classifications: O175.27

Key words: Harmonic mapping, biharmonic mapping, Landau's theorem, quasilinear differential equation.

1 Introduction

Let $f(z) = u(x, y) + iv(x, y)$ be a twice continuously differentiable function of the unit disk $\mathbb{D} = \{z \in \mathbb{C} : |z| < 1\}$. If f satisfies the Laplacian equation $\Delta f(z) = 4f_{z\bar{z}} = 0$, then it is said to be a *harmonic mapping*. A harmonic mapping defined on a simply connected domain has a canonical expression

$$f(z) = h(z) + \overline{g(z)},$$

where $h(z)$ and $g(z)$ are analytic on \mathbb{D} . If a four times continuously differentiable function f satisfies $\Delta\Delta f(z) = 0$, then it is said to be a *biharmonic mapping*, which has a representation with

$$f(z) = |z|^2 p(z) + q(z),$$

where $p(z)$ and $q(z)$ are harmonic mappings of \mathbb{D} (see [2]).

*Corresponding author. *Email addresses:* mujingjing123@163.com (J. J. Mu), chxtt@hqu.edu.cn (X. D. Chen)

For a continuously differentiable function $f(z), z \in \mathbb{D}$, we write

$$\begin{aligned}\Lambda_f(z) &= |f_z(z)| + |f_{\bar{z}}(z)|, \\ \lambda_f(z) &= ||f_z(z)| - |f_{\bar{z}}(z)||, \\ J_f(z) &= |f_z|^2 - |f_{\bar{z}}|^2.\end{aligned}$$

Lewy [5] showed that a harmonic mapping is locally univalent if and only if its Jacobian $J_f(z)$ does not vanish for any $z \in \mathbb{D}$.

If $f(z)$ is a harmonic mapping of \mathbb{D} satisfying that $\lim_{r \rightarrow 1} f(re^{i\theta}) = f^*(e^{i\theta})$ and $f^*(e^{i\theta})$ is a Lebesgue integrable function on $\mathbb{T} = \{z \in \mathbb{C} : |z| = 1\}$, then

$$f(z) = \frac{1}{2\pi} \int_0^{2\pi} P(ze^{-it}) f^*(e^{it}) dt, \quad z \in \mathbb{D},$$

where $P(z) = \frac{1-|z|^2}{|1-z|^2}$ is the Poisson kernel of \mathbb{D} (see [6, p.11]).

Define a kernel function $K(z)$ by

$$K(z) = \frac{1}{2} \frac{(1-|z|^2)^3}{|1-z|^4}. \quad (1.1)$$

Olofsson [13] introduced a quasilinear differential equation

$$\bar{z}\partial_{\bar{z}}f(z) + z\partial_zf(z) + (1-|z|^2)\partial_z\partial_{\bar{z}}f(z) = f(z), \quad (1.2)$$

and proved

Theorem A. *Suppose that $f(z) \in C^2(\mathbb{D})$ satisfies Eq. (1.2) and $\lim_{r \rightarrow 1} f(re^{i\theta}) = f^*(e^{i\theta}), z = re^{i\theta}$. If $f^*(e^{i\theta})$ is a Lebesgue integrable function on \mathbb{T} , then*

$$f(z) = \frac{1}{2\pi} \int_{\mathbb{T}} K(ze^{-it}) f^*(e^{it}) dt, \quad z \in \mathbb{D}. \quad (1.3)$$

In this paper, we show that the kernel function $K(z)$ is a biharmonic mapping, which is also a solution of Eq. (1.2) (see Lemma 2.1 in Section 2). Moreover, we utilize harmonic mappings to give an explicit representation of the solution of the Eq. (1.2) (see Theorem 2.1 in Section 2).

The classical Landau's theorem [9] states that if $f(z)$ is an analytic function on \mathbb{D} satisfying that $f(0) = f'(0) - 1 = 0$ and $|f(z)| \leq M$ for $z \in \mathbb{D}$, then f is univalent in the disk $\mathbb{D}_{r_0} = \{z : |z| \leq r_0\}$ with $r_0 = \frac{1}{M + \sqrt{M^2 - 1}}$, and $f(\mathbb{D}_{r_0})$ contains a disk \mathbb{D}_{σ_0} , with $\sigma_0 = Mr_0^2$. This result is sharp for the function $f(z) = Mz \frac{1-Mz}{M-z}$.

Recently, Landau's theorem has been introduced in other classes of mappings, Chen, Gauthier and Hengartner [3] obtained two versions of Landau-type theorems for bounded harmonic mappings. Under different normalization conditions, those papers [8, 10, 14] improved some results in [3]. Abdulhadi and Muhanna [1] gave two versions of Landau-type theorems for biharmonic mappings, and then their results were improved by the papers [4, 11, 12, 14]. Among them, Zhu and Liu [14] obtained

Theorem B. Suppose that $f(z) = |z|^2g(z) + h(z)$ is a biharmonic mapping in the unit disk \mathbb{D} such that $|J_f(0)| = 1$, $|g(z)| \leq M_1$ and $|h(z)| \leq M_2$ for all $z \in \mathbb{D}$.

(1) If $M_2 > 1$, or $M_2 = 1$ and $M_1 > 0$, then f is univalent in the disk \mathbb{D}_{r_1} , and $f(\mathbb{D}_{r_1})$ contains a schlicht disk $\mathbb{D}_{\sigma_1} = \{z \in \mathbb{D} : |z - f(0)| \leq \sigma_1\}$, where $r_1 = r_1(M_1, M_2)$ is the minimum of positive roots of the following equation:

$$\lambda_0(M_2) - 2M_1r - \frac{4M_1r^2}{\pi(1-r^2)} - \lambda_0(M_2)\sqrt{M_2^4-1}\frac{r\sqrt{4-3r^2+r^4}}{(1-r^2)^{3/2}} = 0,$$

and

$$\sigma_1 = \lambda_0(M_2)r_1 - M_1r_1^2 - \lambda_0(M_2)\sqrt{M_2^4-1}\frac{r_1^2}{(1-r_1^2)^{1/2}},$$

where $\lambda_0(M_2)$ is given by (3.2).

(2) If $M_2 = 1$ and $M_1 = 0$, then f is univalent in \mathbb{D} and $f(\mathbb{D}) = \mathbb{D}$.

Theorem C. Suppose that $f(z) = |z|^2g(z) + h(z)$ is a biharmonic mapping of the unit disk \mathbb{D} , such that $\lambda_f(0) = 1$, $|g(z)| \leq M_1$ and $|h(z)| \leq M_2$ for $z \in \mathbb{D}$.

(1) If $M_2 > 1$, or $M_2 = 1$ and $M_1 > 0$, then f is univalent in the disk \mathbb{D}_{r_2} , and $f(\mathbb{D}_{r_2})$ contains a schlicht disk $\mathbb{D}_{\sigma_2} = \{z \in \mathbb{C} : |z - f(0)| \leq \sigma_2\}$, where $r_2 = r_2(M_1, M_2)$ is the minimum of positive roots of the following equation:

$$1 - 2M_1r - \frac{4M_1r^2}{\pi(1-r^2)} - \sqrt{2(M_2^2-1)}\frac{r\sqrt{4-3r^2+r^4}}{(1-r^2)^{3/2}} = 0,$$

and

$$\sigma_2 = r_2 - M_1r_2^2 - \sqrt{2(M_2^2-1)}\frac{r_2^2}{(1-r_2^2)^{1/2}}.$$

(2) If $M_2 = 1$ and $M_1 = 0$, then f is univalent in \mathbb{D} and $f(\mathbb{D}) = \mathbb{D}$.

In this paper, utilizing the representation (2.2) at Theorem 2.1, we obtain two versions of Landau-type theorem under the analogous normalization conditions given at the above Theorem B and Theorem C, correspondingly.

Theorem 1.1. Let $g(z)$ be a harmonic mapping in \mathbb{D} . Suppose $f(z)$ is a solution of (1.2) with a representation

$$f(z) = \frac{1}{2}(1 - |z|^2)(zg_z(z) + \bar{z}g_{\bar{z}}(z)) + \frac{1}{2}(1 + |z|^2)g(z).$$

If $g(0) = |J_g(0)| - 1 = 0$ and $|g(z)| \leq M (M \geq 1)$ for all $z \in \mathbb{D}$, then $f(z)$ is univalent in the disk \mathbb{D}_{ρ_1} and $f(\mathbb{D}_{\rho_1})$ contains a disk \mathbb{D}_{R_1} , where ρ_1 is the minimum of positive roots of the equation

$\phi(\rho) = 0, R_1 = \psi(\rho_1)$, and

$$\phi(\rho) = \lambda_0(M) \left(1 - \sqrt{M^4 - 1} \left(\frac{\rho \sqrt{\rho^4 + 4\rho^2 + 1}}{(1 - \rho^2)^{5/2}} + \frac{\rho \sqrt{\rho^4 - 3\rho^2 + 4}}{(1 - \rho^2)^{3/2}} \right) \right) - \frac{4M\rho^2}{\pi(1 - \rho^2)} - M\rho, \tag{1.4}$$

$$\psi(\rho) = \lambda_0(M)\rho - \frac{1}{2}\lambda_0(M)\sqrt{M^4 - 1} \frac{\rho^2(\sqrt{4\rho^4 - 11\rho^2 + 9} + \sqrt{\rho^2 + 1})}{(1 - \rho^2)^{3/2}}, \tag{1.5}$$

where $\lambda_0(M)$ is given by (3.2).

Theorem 1.2. Let $g(z)$ be a harmonic mapping in \mathbb{D} . Suppose $f(z)$ is a solution of (1.2) with a representation

$$f(z) = \frac{1}{2}(1 - |z|^2)(zg_z(z) + \bar{z}g_{\bar{z}}(z)) + \frac{1}{2}(1 + |z|^2)g(z).$$

If $g(0) = \lambda_g(0) - 1 = 0$ and $|g(z)| \leq M (M \geq 1)$ for all $z \in \mathbb{D}$, then $f(z)$ is univalent in the disk \mathbb{D}_{ρ_2} and $f(\mathbb{D}_{\rho_2})$ contains a disk \mathbb{D}_{R_2} , where ρ_2 is the minimum of positive roots of the following equation,

$$1 - \sqrt{2(M^2 - 1)} \frac{\rho \sqrt{\rho^4 + 4\rho^2 + 1}}{(1 - \rho^2)^{5/2}} - \sqrt{2(M^2 - 1)} \frac{\rho \sqrt{\rho^4 - 3\rho^2 + 4}}{(1 - \rho^2)^{3/2}} - \frac{4M\rho^2}{\pi(1 - \rho^2)} - M\rho = 0,$$

and

$$R_2 = \rho_2 - \frac{1}{2}\sqrt{2(M^2 - 1)} \frac{\rho_2^2(\sqrt{4\rho_2^4 - 11\rho_2^2 + 9} + \sqrt{\rho_2^2 + 1})}{(1 - \rho_2^2)^{3/2}}.$$

2 Explicit representation of solutions of the quasilinear differential equation

In order to give a representation of a solution of the quasilinear differential equation (1.2), we first give some properties of the kernel function $K(z)$.

Lemma 2.1. The kernel function $K(z) = \frac{1}{2} \frac{(1 - |z|^2)^3}{|1 - z|^4}, z \in \mathbb{D}$, is a solution of Eq. (1.2) and is also a biharmonic mapping.

Proof. By some elementary calculations, we get

$$\begin{aligned} \partial_{\bar{z}}K(z) &= \frac{1}{2} \left(-3z(1 - |z|^2)^2 \frac{1}{|1 - z|^4} + 2(1 - z)(1 - |z|^2)^3 \frac{1}{|1 - z|^6} \right) \\ &= \frac{1}{2} \frac{(1 - |z|^2)^2}{|1 - z|^4} \left(-z + 2 \frac{1 - z}{1 - \bar{z}} \right), \end{aligned}$$

$$\begin{aligned} \partial_z K(z) &= \frac{1}{2} \frac{(1-|z|^2)^2}{|1-z|^4} \left(-\bar{z} + 2\frac{1-\bar{z}}{1-z} \right), \\ \partial_z \partial_{\bar{z}} K(z) &= \frac{1}{2} \frac{1-|z|^2}{|1-z|^4} \left(-2z\frac{1-\bar{z}}{1-z} + 4 \right) + \frac{1}{2} \frac{(1-|z|^2)^2}{|1-z|^4} \left(-1 - \frac{2}{1-\bar{z}} \right). \end{aligned}$$

Using the above three relations, we have

$$\begin{aligned} &\bar{z}\partial_{\bar{z}}K(z) + z\partial_zK(z) + (1-|z|^2)\partial_z\partial_{\bar{z}}K(z) \\ &= \frac{1}{2}\bar{z}\frac{(1-|z|^2)^2}{|1-z|^4} \left(-z + 2\frac{1-z}{1-\bar{z}} \right) + \frac{1}{2}z\frac{(1-|z|^2)^2}{|1-z|^4} \left(-\bar{z} + 2\frac{1-\bar{z}}{1-z} \right) \\ &\quad + \frac{1}{2}(1-|z|^2)\frac{1-|z|^2}{|1-z|^4} \left(-2z\frac{1-\bar{z}}{1-z} + 4 \right) + \frac{1}{2}(1-|z|^2)\frac{(1-|z|^2)^2}{|1-z|^4} \left(-1 - \frac{2}{1-\bar{z}} \right) \\ &= \frac{1}{2}\frac{(1-|z|^2)^2}{|1-z|^4} \left(-2|z|^2 + 2\bar{z}\frac{1-z}{1-\bar{z}} + 4 - (1-|z|^2) - 2\frac{1-|z|^2}{1-\bar{z}} \right) \\ &= \frac{1}{2}\frac{(1-|z|^2)^3}{|1-z|^4} = K(z). \end{aligned}$$

That is, $K(z)$ is a solution of Eq. (1.2).

Since

$$K(z) = -\frac{1}{2}(1-|z|^2) + \frac{1}{2}\frac{1}{(1-z)^2} + \frac{1}{2}\frac{1}{(1-\bar{z})^2} - \frac{1}{2}\frac{z^2|z|^2}{(1-z)^2} - \frac{1}{2}\frac{\bar{z}^2|z|^2}{(1-\bar{z})^2}, \tag{2.1}$$

one shows that $K(z)$ is a biharmonic mapping, this completes the proof. □

Next we give an explicit representation of solution of Eq. (1.2).

Theorem 2.1. *Suppose that $f(z) \in C^2(\mathbb{D})$, satisfies $\lim_{r \rightarrow 1^-} f(re^{i\theta}) = f^*(e^{i\theta})$ with $z = re^{i\theta}$. If $f^*(e^{i\theta})$ is a Lebesgue integrable function on the unit circle \mathbb{T} , then a solution of Eq. (1.2) has a representation*

$$f(z) = \frac{1}{2}(1-|z|^2)(zg_z(z) + \bar{z}g_{\bar{z}}(z)) + \frac{1}{2}(1+|z|^2)g(z), \quad z \in \mathbb{D}, \tag{2.2}$$

where $g(z)$ is a harmonic mapping in \mathbb{D} .

Proof. By (2.1), we have

$$K(z) = \frac{1}{2} \sum_{n=0}^{\infty} [(n+1) - (n-1)|z|^2] z^n + \frac{1}{2} \sum_{n=1}^{\infty} [(n+1) - (n-1)|z|^2] \bar{z}^n. \tag{2.3}$$

From Theorem A and the relation (2.3), we obtain

$$\begin{aligned} f(z) &= \frac{1}{2\pi} \int_{\mathbb{T}} K(ze^{-it}) f^*(e^{it}) dt \\ &= \frac{1}{2\pi} \int_{\mathbb{T}} \frac{1}{2} \sum_{n=0}^{\infty} [(n+1) - (n-1)|z|^2] z^n e^{-int} f^*(e^{it}) dt \\ &\quad + \frac{1}{2\pi} \int_{\mathbb{T}} \frac{1}{2} \sum_{n=1}^{\infty} [(n+1) - (n-1)|z|^2] \bar{z}^n e^{int} f^*(e^{it}) dt. \end{aligned}$$

Let $a_n = \frac{1}{2\pi} \int_{\mathbb{T}} f^*(e^{it}) e^{-int} dt$, $\bar{b}_n = \frac{1}{2\pi} \int_{\mathbb{T}} f^*(e^{it}) e^{int} dt$, $n = 1, 2, \dots$. Thus, we have

$$f(z) = \frac{1}{2} \sum_{n=0}^{\infty} a_n ((n+1) - (n-1)|z|^2) z^n + \frac{1}{2} \sum_{n=1}^{\infty} \bar{b}_n ((n+1) - (n-1)|z|^2) \bar{z}^n.$$

Write $g(z) = \sum_{n=0}^{\infty} a_n z^n + \overline{\sum_{n=1}^{\infty} b_n z^n}$. Then we get

$$f(z) = \frac{1}{2} (1 - |z|^2) (z g_z(z) + \bar{z} g_{\bar{z}}(z)) + \frac{1}{2} (1 + |z|^2) g(z), \tag{2.4}$$

which shows that

$$f(z) = |z|^2 \left(\frac{1}{2} g(z) - \frac{1}{2} (z g_z(z) + \bar{z} g_{\bar{z}}(z)) \right) + \frac{1}{2} (g(z) + z g_z(z) + \bar{z} g_{\bar{z}}(z)).$$

Hence, $f(z)$ is a biharmonic mapping.

Next, we will prove that $f(z)$ are solutions of Eq. (1.2). Since

$$f_z = -\frac{1}{2} |z|^2 g_z - \frac{1}{2} \bar{z}^2 g_{\bar{z}} + \frac{1}{2} (1 - |z|^2) z g_{zz} + \frac{1}{2} \bar{z} g + g_z, \tag{2.5}$$

$$f_{\bar{z}} = -\frac{1}{2} z^2 g_z - \frac{1}{2} |z|^2 g_{\bar{z}} + \frac{1}{2} (1 - |z|^2) \bar{z} g_{\bar{z}\bar{z}} + \frac{1}{2} z g + g_{\bar{z}}, \tag{2.6}$$

we have

$$f_{\bar{z}z} = -\frac{1}{2} \bar{z} g_{\bar{z}} - \frac{1}{2} z g_z - \frac{1}{2} z^2 g_{zz} - \frac{1}{2} \bar{z}^2 g_{\bar{z}\bar{z}} + \frac{1}{2} g.$$

Thus,

$$\begin{aligned} &\bar{z} f_{\bar{z}} + z f_z + (1 - |z|^2) f_{\bar{z}z} \\ &= -\frac{1}{2} \bar{z} g_{\bar{z}} - \frac{1}{2} \bar{z} |z|^2 g_{\bar{z}} - \frac{1}{2} z g_z - \frac{1}{2} z |z|^2 g_z \\ &\quad + |z|^2 g + z g_z + \bar{z} g_{\bar{z}} + \frac{1}{2} (1 - |z|^2) g \\ &= \frac{1}{2} (1 - |z|^2) (z g_z(z) + \bar{z} g_{\bar{z}}(z)) + \frac{1}{2} (1 + |z|^2) g(z) \\ &= f(z). \end{aligned}$$

This completes the proof. □

3 Proof of Theorem 1.1 and Theorem 1.2

In order to prove Theorem 1.1 and Theorem 1.2, we need the following lemmas.

Lemma A. [4,7] Suppose that $f(z)$ is a harmonic mapping of the unit disk \mathbb{D} such that $|f(z)| \leq M$ for all $z \in \mathbb{D}$. Then

$$\Lambda_f(z) \leq \frac{4M}{\pi(1-|z|^2)}, \quad z \in \mathbb{D}. \tag{3.1}$$

Moreover, the inequality (3.1) is sharp.

Lemma B. [11] Suppose that $f(z) = h(z) + \overline{g(z)}$ is a harmonic mapping of the unit disk \mathbb{D} such that $|f(z)| \leq M$ for all $z \in \mathbb{D}$ with $h(z) = \sum_{n=0}^{\infty} a_n z^n$ and $g(z) = \sum_{n=1}^{\infty} b_n z^n$. If $|J_f(0)| = 1$, then

$$\lambda_f(0) \geq \lambda_0(M) = \begin{cases} \frac{\sqrt{2}}{\sqrt{M^2-1} + \sqrt{M^2+1}}, & \text{if } 1 \leq M \leq M_0 = \frac{\pi}{2\sqrt[4]{2\pi^2-16}}, \\ \frac{\pi}{4M}, & \text{if } M \geq M_0 = \frac{\pi}{2\sqrt[4]{2M^2-16}} \approx 1.1296. \end{cases} \tag{3.2}$$

Lemma C. [14] Suppose that $f(z) = h(z) + \overline{g(z)}$ is a harmonic mapping of the unit disk \mathbb{D} , with $h(z) = \sum_{n=0}^{\infty} a_n z^n$ and $g(z) = \sum_{n=1}^{\infty} b_n z^n$.

(1) If f satisfies $|f(z)| \leq M$ for all $z \in \mathbb{D}$ and $|J_f(0)| = 1$, then

$$\left(\sum_{n=2}^{\infty} (|a_n| + |b_n|)^2 \right)^{1/2} \leq \lambda_f(0) \cdot \sqrt{M^4 - 1}. \tag{3.3}$$

(2) If f satisfies $|f(z)| \leq M$ for all $z \in \mathbb{D}$ and $\lambda_f(0) = 1$, then

$$\left(\sum_{n=2}^{\infty} (|a_n| + |b_n|)^2 \right)^{1/2} \leq \sqrt{2(M^2 - 1)}. \tag{3.4}$$

Next, we will give prove the proofs of Theorem 1.1 and Theorem 1.2.

Proof of Theorem 1.1. Since $g(z)$ is a harmonic mapping in the unit disk, $g(z)$ can be written as $g(z) = h_1(z) + \overline{g_1(z)}$ with

$$h_1 = \sum_{n=1}^{\infty} a_n z^n, \quad g_1 = \sum_{n=1}^{\infty} b_n z^n,$$

where $h_1(z)$ and $g_1(z)$ are analytic in \mathbb{D} . By (2.5), we have

$$f_z = -\frac{1}{2}|z|^2 h_1' - \bar{z}^2 \overline{g_1'} + \frac{1}{2}(1-|z|^2)z h_1'' + \frac{1}{2}\bar{z}g + h_1',$$

thus, $f_z(0) = g_z(0) = h'_1(0)$. By (2.6), we also get

$$f_{\bar{z}} = -\frac{1}{2}z^2h'_1 - \frac{1}{2}|z|^2\bar{g}'_1 + \frac{1}{2}(1-|z|^2)\bar{z}\bar{g}''_1 + \frac{1}{2}zg + \bar{g}'_1,$$

thus, $f_{\bar{z}}(0) = g_{\bar{z}}(0) = \bar{g}'_1(0)$.

For fixed $\rho \in (0,1)$, we choose z_1, z_2 with $z_1 \neq z_2$, $|z_1| < \rho$ and $|z_2| < \rho$. Let $[z_1, z_2]$ be the line segment from z_1 to z_2 . Then, it follows that

$$\begin{aligned} |f(z_2) - f(z_1)| &= \left| \int_{[z_1, z_2]} f_z(z)dz + f_{\bar{z}}(z)d\bar{z} \right| \\ &\geq \left| \int_{[z_1, z_2]} f_z(0)dz + f_{\bar{z}}(0)d\bar{z} \right| \\ &\quad - \left| \int_{[z_1, z_2]} (f_z(z) - f_z(0))dz + (f_{\bar{z}}(z) - f_{\bar{z}}(0))d\bar{z} \right|. \end{aligned}$$

and

$$\begin{aligned} &\left| \int_{[z_1, z_2]} f_z(0)dz + f_{\bar{z}}(0)d\bar{z} \right| \\ &= \int_{[z_1, z_2]} |f_z(0) + f_{\bar{z}}(0)e^{-2i\theta}| ds \geq \lambda_f(0)|z_1 - z_2| \\ &= \lambda_g(0)|z_1 - z_2|. \end{aligned}$$

Using Lemma A and the Cauchy-Schwarz inequality, we obtain

$$\begin{aligned} &\left| \int_{[z_1, z_2]} (f_z(z) - f_z(0))dz + (f_{\bar{z}}(z) - f_{\bar{z}}(0))d\bar{z} \right| \\ &\leq \frac{1}{2} \left| \int_{[z_1, z_2]} \bar{z}^2\bar{g}'_1 dz + z^2h'_1 d\bar{z} \right| + \frac{1}{2} \left| \int_{[z_1, z_2]} |z|^2h'_1 dz + |z|^2\bar{g}'_1 d\bar{z} \right| \\ &\quad + \frac{1}{2} \left| \int_{[z_1, z_2]} (1-|z|^2)zh''_1 dz + (1-|z|^2)\bar{z}\bar{g}''_1 d\bar{z} \right| + \frac{1}{2} \left| \int_{[z_1, z_2]} g(\bar{z}dz + zd\bar{z}) \right| \\ &\quad + \left| \int_{[z_1, z_2]} (h'_1 - h'_1(0))dz + (\bar{g}'_1 - \bar{g}'_1(0))d\bar{z} \right| \\ &\leq |z_1 - z_2| \left\{ \frac{4M\rho^2}{\pi(1-\rho^2)} + \frac{1}{2} \sum_{n=2}^{\infty} (|a_n| + |b_n|)n(n-1)\rho^{n-1} \right. \\ &\quad \left. + M\rho + \sum_{n=2}^{\infty} (|a_n| + |b_n|)n\rho^{n-1} \right\} \\ &\leq |z_1 - z_2| \left\{ \frac{4M\rho^2}{\pi(1-\rho^2)} + \frac{1}{2} \sum_{n=2}^{\infty} (|a_n| + |b_n|)^2 \right\}^{1/2} \left(\sum_{n=2}^{\infty} n^2(n-1)^2\rho^{2(n-1)} \right)^{1/2} \\ &\quad + M\rho + \left(\sum_{n=2}^{\infty} (|a_n| + |b_n|)^2 \right)^{1/2} \left(\sum_{n=2}^{\infty} n^2\rho^{2(n-1)} \right)^{1/2}. \end{aligned}$$

The combination of Lemma B with Lemma C gives us that

$$\begin{aligned}
 & |f(z_2) - f(z_1)| \\
 & \geq |z_1 - z_2| \left\{ \lambda_g(0) - \frac{4M\rho^2}{\pi(1-\rho^2)} - \frac{1}{2}\lambda_g(0)\sqrt{M^4-1} \frac{2\rho\sqrt{\rho^4+4\rho^2+1}}{(1-\rho^2)^{5/2}} \right. \\
 & \quad \left. - M\rho - \lambda_g(0)\sqrt{M^4-1} \frac{\rho\sqrt{\rho^4-3\rho^2+4}}{(1-\rho^2)^{3/2}} \right\} \\
 & \geq |z_1 - z_2| \left\{ \lambda_0(M) - \frac{4M\rho^2}{\pi(1-\rho^2)} - \lambda_0(M)\sqrt{M^4-1} \frac{\rho\sqrt{\rho^4+4\rho^2+1}}{(1-\rho^2)^{5/2}} \right. \\
 & \quad \left. - M\rho - \lambda_0(M)\sqrt{M^4-1} \frac{\rho\sqrt{\rho^4-3\rho^2+4}}{(1-\rho^2)^{3/2}} \right\},
 \end{aligned}$$

this implies that there exists a ρ_1 satisfying $|f(z_2) - f(z_1)| > 0$. For any $|z'| = \rho_1$, we have

$$\begin{aligned}
 |f(z')| &= \frac{1}{2} |(1 - |z'|^2)(z'g_z(z') + \bar{z}'g_{\bar{z}}(z')) + (1 + |z'|^2)g(z')| \\
 &\geq |(a_1z' + \bar{b}_1\bar{z}')| - \frac{1}{2} \left| \sum_{n=2}^{\infty} (n+1)a_nz'^n + \sum_{n=2}^{\infty} (n+1)\overline{b_nz'^n} \right| \\
 &\quad - \frac{1}{2} |z|^2 \left| \sum_{n=2}^{\infty} (n-1)a_nz'^n + \sum_{n=2}^{\infty} (n-1)\overline{b_nz'^n} \right| \\
 &\geq \lambda_0(M)\rho_1 - \frac{1}{2}\lambda_0(M)\sqrt{M^4-1} \frac{\rho_1^2(\sqrt{4\rho_1^4-11\rho_1^2+9} + \sqrt{\rho_1^2+1})}{(1-\rho_1^2)^{3/2}},
 \end{aligned}$$

this completes the proof. □

Remark 3.1. For any $\rho \in (0, 1)$, $\phi(\rho)$ is a continuous function. Since $\lim_{\rho \rightarrow 0^+} \phi(\rho) = \lambda_0(M)$ and $\lim_{\rho \rightarrow 1^-} \phi(\rho) = -\infty$, the equation $\phi(\rho) = 0$ has a root in $(0, 1)$. Since $R_1 = \psi(\rho_1) > \rho_1\phi(\rho_1)$, we have $R_1 > 0$.

Proof of Theorem 1.2. Notice that $\lambda_f(0) = 1$. We replace $\lambda_0(M)$ in (1.4) and (1.5) with $\lambda_f(0)$. Using the same method as the proof of Theorem 1.1, we obtain the proof of Theorem 1.2 from the relation (3.4) at Lemma C. □

Remark 3.2. Since $\sqrt{2(M^2-1)} \leq \sqrt{M^4-1}$, we have $\rho_1 < \rho_2$, $R_1 < R_2$ at Theorem 1.1 and Theorem 1.2.

Acknowledgments

The authors are grateful to the referees for their useful comments and suggestion. This work is partially supported by NNSF of China (11101165), the Natural Science Founda-

tion of Fujian Province of China (2014J01013), NCETFJ Fund (2012FJ-NCET-ZR05), Promotion Program for Young and Middle-aged Teacher in Science and Technology Research of Huaqiao University (ZQN-YX110).

References

- [1] Z. Abdulhadi and Y. Muhanna. Landau's theorem for biharmonic mappings. *J. Math. Anal. Appl.*, 338(1): 705–709, 2008.
- [2] Z. Abdulhadi, Y. Muhanna and S. Khuri. On univalent solutions of the biharmonic equation. *J. Inequal. Appl.*, 5: 469–478, 2005.
- [3] H. Chen, P. Gauthier and W. Hengartner. Bloch constants for planar harmonic mappings. *Proc. Amer. Math. Soc.*, 128(11): 3231–3240, 2000.
- [4] S. Chen, S. Ponnusamy and X. Wang. Coefficient estimates and Landau-Blochs constant for planar harmonic mappings. *Bull. Malays. Math. Sci. Soc.* 34(2): 255-265, 2011.
- [5] H. Lewy. On the non-vanishing of the Jacobian in certain one-to-one mappings. *Bull. Amer. Math. Soc.*, 42(10): 689-692, 1936.
- [6] J. B. Garnett, Bounded analytic functions. Revised first edition. Graduate Texts in Mathematics, Springer, New York, 2007.
- [7] F. Colonna. The Bloch constant of bounded harmonic mappings. *Indiana Univ. Math. J.*, 38(4): 829-840, 1989.
- [8] X. Z. Huang. Estimates on Bloch constants for planar harmonic mappings. *J. Math. Anal. Appl.*, 337(2): 880-887, 2008.
- [9] E. Landau. Der Picard-Schottysche Satz und die Blochsche Konstanten. *Sitzungsber Preuss Akad Wiss Berlin Phys. -Math Kl*, 467-474, 1926.
- [10] M.S. Liu. Landau's theorem for planar harmonic mappings. *Comput. Math. Appl.*, 57(7): 1142-1146, 2009.
- [11] M.S. Liu. Landau's theorems for biharmonic mappings. *Complex Var. Elliptic Equ*, 53(9): 843-855, 2008.
- [12] M.S. Liu. Z.W. Liu and Y.C. Zhu, Landau's theorems for certain biharmonic mappings. *Acta Math. Sinica (Chin. Ser.)*, 54(1): 69-80, 2011.
- [13] A. Olofsson. Differential operators for a scale of Poisson type kernels in the unit disc. *J. Anal. Math.*, to appear.
- [14] Y. C. Zhu and M.S. Liu. Landau-type theorems for certain planar harmonic mappings or biharmonic mappings. *Complex Var. Elliptic Equ*, 58(12): 1667-1676, 2013.